

## **City of Tempe**

## **Bid Tabulation**

**Rio Salado Shared Use Path - McClintock Drive Bridge Underpass Project No. 6007781** 

## Base Bid

Item No.	Item Name	Quantity	Unit	Eng. Est.	LINCOLN CONSTRUCTORS, INC	AZ WESTERN CONTRACTING, INC_	STANDARD CONSTRUCTION CO INC	STRATTON BUILDERS	J_BANICKI CONSTRUCTION
				Unit Cost Total Cost	TORS,	ING,	TION		TION
1	Construction Surveying	1	LS	\$15,000.00 \$15,000.00	\$15,000.00 \$15,000.00	\$50,000.00 \$50,000.00	\$18,000.00 \$18,000.00	\$25,000.00 \$25,000.00	\$30,000.00 \$30,000.00
2	Construction Surveying As-builts	1	LS	\$5,000.00 \$5,000.00	\$2,500.00 \$2,500.00	\$1,000.00 \$1,000.00	\$2,000.00 \$2,000.00	\$7,000.00 \$7,000.00	\$4,000.00 \$4,000.00
3	Permits & Fees	1	LS	\$5,000.00 \$5,000.00	\$6,500.00 \$6,500.00	\$2,000.00 \$2,000.00	\$6,500.00 \$6,500.00	\$7,000.00 \$7,000.00	\$5,000.00 \$5,000.00
4	Mobilization / De-mobilization	1	LS	\$40,000.00 \$40,000.00	\$70,000.00 \$70,000.00	\$165,000.00 \$165,000.00	\$82,000.00 \$82,000.00	\$90,000.00 \$90,000.00	\$68,000.00 \$68,000.00
5	Clearing & Grubbing	1	LS	\$5,000.00 \$5,000.00	\$25,000.00 \$25,000.00	\$50,000.00 \$50,000.00	\$22,000.00 \$22,000.00	\$38,000.00 \$38,000.00	\$14,000.00 \$14,000.00
6	Pathway Excavation	1567	CY	\$40.00 \$62,680.00	\$20.00 \$31,340.00	\$105.00 \$164,535.00	\$52.00 \$81,484.00	\$45.00 \$70,515.00	\$210.00 \$329,070.00
7	CSA Excavation	275	CY	\$100.00 \$27,500.00	\$50.00 \$13,750.00	\$500.00 \$137,500.00	\$75.00 \$20,625.00	\$60.00 \$16,500.00	\$295.00 \$81,125.00
8	Gabion Mattress	859	SY	\$100.00 \$85,900.00	\$70.00 \$60,130.00	\$70.00 \$60,130.00	\$95.00 \$81,605.00	\$169.00 \$145,171.00	\$790.00 \$678,610.00
9	Dumped Gabion Rock (12" thick)	80	SF	\$10.00 \$800.00	\$20.00 \$1,600.00	\$50.00 \$4,000.00	\$19.00 \$1,520.00	\$45.00 \$3,600.00	\$11.00 \$880.00
10	Dust Palliative Application	1	LS	\$3,000.00 \$3,000.00	\$3,500.00 \$3,500.00	\$2,000.00 \$2,000.00	\$3,800.00 \$3,800.00	\$37,500.00 \$37,500.00	\$3,350.00 \$3,350.00
11	Subgrade Preparation	2944	SY	\$5.00 \$14,720.00	\$18.00 \$52,992.00	\$30.00 \$88,320.00	\$10.00 \$29,440.00	\$38.00 \$111,872.00	\$20.00 \$58,880.00

										-
12	Ribbon Curb (Type 'B'), MAG 220-1	45	LF	\$40.00 \$1,800.00	\$50.00 \$2,250.00	\$30.00 \$1,350.00	\$30.00 \$1,350.00	\$36.00 \$1,620.00	\$45.00 \$2,025.00	
13	Concrete Sidewalk, 4", MAG 230	117	SF	\$10.00 \$1,170.00	\$10.00 \$1,170.00	\$8.00 \$936.00	\$9.00 \$1,053.00	\$11.00 \$1,287.00	\$7.00 \$819.00	
14	Reinforced Concrete Pathway, 6", Class A	1516	SY	\$54.00 \$81,864.00	\$20.00 \$30,320.00	\$90.00 \$136,440.00	\$110.00 \$166,760.00	\$112.00 \$169,792.00	\$150.00 \$227,400.00	
15	Reinforced Concrete Armor, 6", Class B	259	SY	\$54.00 \$13,986.00	\$180.00 \$46,620.00	\$170.00 \$44,030.00	\$132.00 \$34,188.00	\$112.00 \$29,008.00	\$220.00 \$56,980.00	
16	Remove Curb & Gutter	45	LF	\$15.00 \$675.00	\$10.00 \$450.00	\$4.00 \$180.00	\$9.00 \$405.00	\$12.00 \$540.00	\$30.00 \$1,350.00	
17	Remove & Replace AC Pavement	10	SY	\$500.00 \$5,000.00	\$110.00 \$1,100.00	\$100.00 \$1,000.00	\$180.00 \$1,800.00	\$150.00 \$1,500.00	\$500.00 \$5,000.00	
18	Remove Concrete Sidewalk	116	SF	\$5.00 \$580.00	\$5.00 \$580.00	\$6.00 \$696.00	\$4.00 \$464.00	\$8.00 \$928.00	\$15.00 \$1,740.00	
19	Remove Concrete Pathway	454	SY	\$35.00 \$15,890.00	\$45.00 \$20,430.00	\$27.00 \$12,258.00	\$23.00 \$10,442.00	\$65.00 \$29,510.00	\$60.00 \$27,240.00	
20	Remove Fence	83	LF	\$25.00 \$2,075.00	\$10.00 \$830.00	\$8.00 \$664.00	\$12.00 \$996.00	\$10.00 \$830.00	\$20.00 \$1,660.00	
21	Remove Safety Rail	227	LF	\$25.00 \$5,675.00	\$10.00 \$2,270.00	\$8.00 \$1,816.00	\$12.00 \$2,724.00	\$25.00 \$5,675.00	\$15.00 \$3,405.00	
22	Remove Gabion Mattress	529	SY	\$35.00 \$18,515.00	\$45.00 \$23,805.00	\$20.00 \$10,580.00	\$24.00 \$12,696.00	\$55.00 \$29,095.00	\$100.00 \$52,900.00	
23	Remove Striping	90	LF	\$5.00 \$450.00	\$5.00 \$450.00	\$7.00 \$630.00	\$25.00 \$2,250.00	\$3.00 \$270.00	\$5.00 \$450.00	
24	Utility Relocations	1	LS	\$20,000.00 \$20,000.00	\$20,000.00 \$20,000.00	\$2,500.00 \$2,500.00	\$8,500.00 \$8,500.00	\$30,000.00 \$30,000.00	\$8,500.00 \$8,500.00	
25	Remove Trees (12" DIA. to 24" DIA.)	3	EA	\$1,200.00 \$3,600.00	\$1,500.00 \$4,500.00	\$500.00 \$1,500.00	\$1,280.00 \$3,840.00	\$1,800.00 \$5,400.00	\$2,500.00 \$7,500.00	
26	Landscaping and Planting	1	LS	\$3,000.00 \$3,000.00	\$15,000.00 \$15,000.00	\$100,000.00 \$100,000.00	\$11,000.00 \$11,000.00	\$42,000.00 \$42,000.00	\$12,000.00 \$12,000.00	
27	Landscape Maintenance & Gurantee Period	1	LS	\$6,000.00 \$6,000.00	\$4,500.00 \$4,500.00	\$2,500.00 \$2,500.00	\$7,000.00 \$7,000.00	\$28,000.00 \$28,000.00	\$8,900.00 \$8,900.00	
28	Landscape and Irrigation System Modification	1	LS	\$2,500.00 \$2,500.00	\$6,500.00 \$6,500.00	\$10,000.00 \$10,000.00	\$15,800.00 \$15,800.00	\$35,922.00 \$35,922.00	\$9,000.00 \$9,000.00	

29	Reflective Traffic Sign Panel	11	SF	\$25.00 \$275.00	\$25.00 \$275.00	\$40.00 \$440.00	\$35.00 \$385.00	\$7,200.00 \$79,200.00	\$60.00 \$660.00
30	Traffic Control	1	AL	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00
31	Yellow Stripe Paint 4" Equiv	246	LF	\$1.00 \$246.00	\$5.00 \$1,230.00	\$7.00 \$1,722.00	\$2.00 \$492.00	\$3.00 \$738.00	\$9.00 \$2,214.00
32	Type 'A' Post per MAG DTL 131	19	LF	\$12.00 \$228.00	\$26.00 \$494.00	\$20.00 \$380.00	\$35.00 \$665.00	\$600.00 \$11,400.00	\$40.00 \$760.00
33	Sign & Sumbol per COT Detail T-360	2	EA	\$300.00 \$600.00	\$200.00 \$400.00	\$1,500.00 \$3,000.00	\$200.00 \$400.00	\$600.00 \$1,200.00	\$2,400.00 \$4,800.00
34	White Paint, "No Parking", 18"x84" Stencil	2	EA	\$250.00 \$500.00	\$350.00 \$700.00	\$264.00 \$528.00	\$69.00 \$138.00	\$900.00 \$1,800.00	\$800.00 \$1,600.00
35	Special Rio Salado Multi-Use Path Lighting Fixture	4	EA	\$10,000.00 \$40,000.00	\$7,500.00 \$30,000.00	\$9,000.00 \$36,000.00	\$18,000.00 \$72,000.00	\$8,485.00 \$33,940.00	\$18,000.00 \$72,000.00
36	Light Fixture, LED, Underdeck	3	EA	\$1,500.00 \$4,500.00	\$1,500.00 \$4,500.00	\$3,800.00 \$11,400.00	\$8,500.00 \$25,500.00	\$3,716.00 \$11,148.00	\$2,000.00 \$6,000.00
37	Electrical Conduit (1 1/2") (PVC Sched 40)	750	LF	\$12.00 \$9,000.00	\$11.00 \$8,250.00	\$16.00 \$12,000.00	\$15.00 \$11,250.00	\$16.00 \$12,000.00	\$18.00 \$13,500.00
38	Electrical Conduit (3/4") (GRS)	225	LF	\$10.00 \$2,250.00	\$7.00 \$1,575.00	\$32.00 \$7,200.00	\$18.00 \$4,050.00	\$32.00 \$7,200.00	\$35.00 \$7,875.00
39	Remove Lighting System	1	LS	\$2,000.00 \$2,000.00	\$6,500.00 \$6,500.00	\$3,600.00 \$3,600.00	\$6,500.00 \$6,500.00	\$12,500.00 \$12,500.00	\$7,150.00 \$7,150.00
40	Ground Wire Bare CU Solid #12	300	LF	\$0.50 \$150.00	\$7.00 \$2,100.00	\$3.50 \$1,050.00	\$4.00 \$1,200.00	\$3.00 \$900.00	\$1.20 \$360.00
41	Ground Wire Bare CU Solid #6	300	LF	\$0.50 \$150.00	\$7.00 \$2,100.00	\$4.00 \$1,200.00	\$3.00 \$900.00	\$5.00 \$1,500.00	\$1.60 \$480.00
42	Electric Underground Junction Box, COT T-441	3	EA	\$600.00 \$1,800.00	\$500.00 \$1,500.00	\$800.00 \$2,400.00	\$1,300.00 \$3,900.00	\$950.00 \$2,850.00	\$1,600.00 \$4,800.00
43	Electric Junction Box, Modified ADOT T.S. 1-10	2	EA	\$300.00 \$600.00	\$750.00 \$1,500.00	\$1,170.00 \$2,340.00	\$1,300.00 \$2,600.00	\$1,200.00 \$2,400.00	\$1,700.00 \$3,400.00
44	Wire #12 THWN Stranded CU	500	LF	\$1.00 \$500.00	\$4.00 \$2,000.00	\$1.00 \$500.00	\$3.00 \$1,500.00	\$3.00 \$1,500.00	\$1.00 \$500.00
45	WIRE #8 THWN Stranded CU	1920	LF	\$1.00 \$1,920.00	\$4.00 \$7,680.00	\$1.20 \$2,304.00	\$2.00 \$3,840.00	\$4.00 \$7,680.00	\$1.60 \$3,072.00

		Total Base Bid:		\$931,949.00	\$1,228,101.00	\$1,683,834.00	\$1,774,467.00	\$1,828,064.00	\$2,955,335.00	
53	Bike Repair Station	1	EA	\$1,500.00 \$1,500.00	\$4,500.00 \$4,500.00	\$3,000.00 \$3,000.00	\$2,000.00 \$2,000.00	\$5,000.00 \$5,000.00	\$2,200.00 \$2,200.00	
52	6" Reinforced Gunite	268	SY	\$75.00 \$20,100.00	\$120.00 \$32,160.00	\$80.00 \$21,440.00	\$99.00 \$26,532.00	\$231.00 \$61,908.00	\$150.00 \$40,200.00	
51	Safety Rail, 56"	798	LF	\$100.00 \$79,800.00	\$200.00 \$159,600.00	\$90.00 \$71,820.00	\$240.00 \$191,520.00	\$210.00 \$167,580.00	\$85.00 \$67,830.00	
50	Retaining Wall (Temporary Soil Nail Wall)	1	LS	\$90,000.00 \$90,000.00	\$90,000.00 \$90,000.00	\$156,835.00 \$156,835.00	\$200,000.00 \$200,000.00	\$95,000.00 \$95,000.00	\$300,000.00 \$300,000.00	
49	Retaining Wall (Permanent Cast-In-Place L-Shape Wall)	1555	SF	\$90.00 \$139,950.00	\$150.00 \$233,250.00	\$100.00 \$155,500.00	\$243.00 \$377,865.00	\$125.00 \$194,375.00	\$250.00 \$388,750.00	
48	Retaining Wall (ADOT SD 7.01)	1048	SF	\$75.00 \$78,600.00	\$150.00 \$157,200.00	\$120.00 \$125,760.00	\$191.00 \$200,168.00	\$125.00 \$131,000.00	\$300.00 \$314,400.00	
47	Access Control Swing Gate	2	EA	\$2,200.00 \$4,400.00	\$5,000.00 \$10,000.00	\$3,000.00 \$6,000.00	\$1,660.00 \$3,320.00	\$7,105.00 \$14,210.00	\$3,500.00 \$7,000.00	
46	WIRE #6 THWN Stranded CU	500	LF	\$1.00 \$500.00	\$5.00 \$2,500.00	\$1.70 \$850.00	\$5.00 \$2,500.00	\$5.00 \$2,500.00	\$2.00 \$1,000.00	